
Date Issued: 10/24/04 IS-15609-BL

HEXNUT
TUERCA HEXAGONAL
ECROU HEXAGONAL

BOLT
PERON

BOULON

#10-24 SCREW

#8-32 SCREW

GASKET
EMPAQUETADURA

RONDELLE

COVER
TAPA

COUVERCLE

WOOD SCREW THREAD
TORNILLO DE MADERA

VIS EN BOIS

ASSEMBLY AND INSTALLATION
Installation should be done by a qualified electrician in accordance with 
local, state and national electric codes.

1) At desired location, use tree bracket as a template and mark position of
mounting holes.

2) Screw hexnut onto bolt until hexnut meets wood screw thread.
3) At position marked in step 1 screw bolts into tree until bolts are secure.
4) Slip tree bracket over bolts and secure in place with remaining hexnuts.

To allow for tree growth tree bracket should not be directly against tree.
This can be accomplished by either backing bolt out from tree or backing
hexnut from step one back from tree.

5) Attach conduit to bottom of tree bracket.
6) Attach fixture to tree bracket. Once fixture is in desired location secure

in place with #10-24 screw provided.
7) Attach ground from fixture and ground from supply under round 

screw provided inside tree bracket.
8) Make wire connections (reference instructions provided with 

fixture.
9) Align holes in gasket with holes in cover and secure to tree 

bracket using #8-32 screws provided

MONTAJE E INSTALACIÓN
La instalación debe hacerla un electricista calificado de acuerdo con los
códigos eléctricos local, estatal y nacional.

1) En el lugar deseado, use el soporte del árbol como plantilla y 
marque la posición de los agujeros de montaje.

2) Atornille la tuerca hexagonal en el perno hasta que la tuerca 
hexagonal alcance la rosca del tornillo de madera.

3) En la posición marcada en el paso 1, atornille los pernos en el árbol 
hasta que los pernos estén seguros.

4) Resbale el soporte del árbol sobre los pernos y sujete en el 
lugar con las tuercas hexagonales restantes.  Para permitir 
el crecimiento del árbol, el soporte del árbol no debe estar 
directamente contra el árbol.  Esto se puede lograr quitando 
algo el perno fuera del árbol o destornillando la tuerca hexagonal
del paso 1 retirándola del árbol.

5) Acople el conducto a la parte inferior del soporte del 
árbol.

6) Acople el artefacto al soporte del árbol.  Una vez que el 
artefacto esté en el lugar deseado, sujete en el lugar con 
el tornillo #10-24 que se provee.

7) Acople la conexión a tierra del artefacto y la conexión a tierra de la 
corriente eléctrica, debajo del tornillo redondo que se provee dentro del
soporte del árbol.

8) Haga las conexiones de los alambres (consulte las instrucciones que se 
proveen con el artefacto).

9) Alinee los agujeros en la empaquetadura con los agujeros en la tapa y
sujete al soporte del árbol con los tornillos #8-32 que se proveen.

MONTAGE ET INSTALLATION
Un électricien qualifié doit se charger des opérations conformément aux
codes nationaux et locaux.

1) À l’emplacement choisi, utilser un support d’arbre comme gabarit et 
marquer les trous de montage.

2) Visser l’écrou hexagonal sur le boulon jusqu’à ce que l’écrou entre en 
contact avec le filet de la vis en bois.

3) Au repère marqué au cours de l’étape 1, visser les boulons dans l’arbre
jusqu’à ce qu’ils soient bien serrés.

4) Passer le support d’arbre sur les boulons et fixer à l’aide des écrous 
hexagonaux restants. Pour ne pas affecter la croissance de l’arbre, le 
support ne doit pas se trouver directement contre l’arbre. Cette espace
peut être crée soit en devisant partiellement le boulon de blocage de 
l’arbre soit l’écrou hexagonal de l’étape 1 de l’arbre.

5) Fixer le conduit sur la partie inférieure du support de l’arbre.
6) Fixer le luminaire au support de l’arbre. Une fois que le luminaire se 

trouve dans la position souhaitée, fixer à l’aide d’une vis nº 10-24 
(fournie).

7) Connecter la mise à la terre du luminaire et celle de l’alimentation sous
la vis ronde fournie à l’intérieur du support de’arbre.

8) Raccorder les fils (instructions fournies avec le luminaire).
9) Aligner les trous situés dans la rondelle à ceux du couvercle et fixer au

support de l’arbre à l’aide des vis nº 8-32 fournies.

WARRANTY
WE WARRANT THE LANDSCAPE PRODUCTS FEATURED IN OUR LANDSCAPE LIGHTING CATALOG (WITH THE EXCEPTION OF LIGHT BULBS) FOR FIVE YEARS AGAINST DEFECTS
IN MATERIALS AND WORKMANSHIP IF IT WAS PROPERLY INSTALLED AND FAILED UNDER NORMAL OPERATING CONDITIONS, PROVIDED IT IS RETURNED TO THE POINT OF
PURCHASE, WHERE IT WILL BE REPAIRED OR, AS IT MAY BE DETERMINED, TO REPLACE THE LANDSCAPE PRODUCT OR PARTS USED ON THAT PRODUCT.

GARANTIA
NOSOTROS GARANTIZAMOS POR CINCO ANOS LOS PRODUCTOS PANORAMICOS QUE OFRECEMOS EN NUESTRO CATALOGO DE ILUMINACION PANORAMICA (CON EXCEPCION
DE LAS BOMBILLAS), QUE ESTAN EXENTOS DE DEFECTOS DE MATERIALES Y MANO DE OBRA, SI SE INSTALARON CORRECTAMIENTE Y FALLARON EN CONDICIONES DE
OPERACION NORMAL, SIEMPRE QUE SE DEVUELVAN AL LUGAR DE COMPRA, DONDE SERAN REPARADOS O, SEGUN PUEDA DETERMINARSE, SERAN CAMBIADOS LOS PRO-
DUCTOS PANORAMICOS O LAS PIEZAS UTILIZADAS EN ESE PRODUCTO

GARANTIE
NOUS GARANTISSONS LES PRODUITS DE PAYSAGES FIGURANT DANS NOTRE CATALOGUE DES LUMIERES PAYSAGISTES (A L’EXCEPTION DES AMPOULES) PENDANT UNE
PERIODE DE CINQ ANS CONTRE TOUS DEFAUTS DE MATERIAUX ET DE MAIN D’OEUVRE SOUS CONDITION QUE L’INSTALLATION AIT ETE EFFECTUEE CORRECTEMENT ET QUE
LES PROBLEMES SE SOIENT PRODUITS AU COURS D’UN EMPLOI NORMAL. LE PRODUIT DOIT ETRE RETOURNE AU LIEU DE VENTE OU IL SERA REPARE OU, SUITE A UNE EVAL-
UATION, LE PRODUIT DE PAYAGE OU LES PIECES QUI LE COMPOSENT SERONT REMPLACEES.

HEXNUT
TUERCA HEXAGONAL
ECROU HEXAGONAL



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


